LW430-2008-A
Library On Wheels

il
Cop=rilicus
>

Educational Products Inc.

...making teaching a little easier

If any parts are missing or you experience problems, please call:

1-800-267-8494

Have your packing slip ready for reference

or email info@copernicused.com

Contents of Box 1

\/I

Assembly
Wrench

g
5” Caster

(2 with brakes)
4x

Rubber Stop
8x (4 required)

Back Stop
2X

Bent
Stretcher
2X

Tub Support

W 4x
N

Straight
Stretcher
3x Outside
Frame

2X

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ﬂ g

M6 Bolt
55mm
22X

Q

M6 Acorn Nut

8x

©

M6 Lock Washer  4x

22X _

Caster Nut
4x

Contents of Box 2

Caster Large Washer

Caster Lock Washer
4x

LW430-2008-A
February 20, 2008

Visit www.copernicused.com fo browse our entire line of educational aids



NOTE: Do not tighten any fasteners until the cart is completely assembled

Tools Required: /'\\
Adjustable Wrench

1 Install the Casters
- Place caster lock washer onto caster stem
- Tighten lock washer with Caster Nut onto base of Caster
- Place caster large washer onto caster stem
- Thread the casters into the ends of the outside frames
- Use an adjustable wrench to tighten securely

2 Install the 2 Bent Stretchers to the Outside Frames
- Lay outside frames on their backs
- Use M6 bolts & lock washers & acorn nuts o S, 5,
- Hand tighten only o » _
3 Install the 3 Straight Stretchers 7
- Use M6 bolts & lock washers d’m e

- Hand tighten only

Note: Recommend that casters with .
brakes be located both front or both j
rear. !

To prevent children from playing with 0
brakes the rear location is preferred

4 Carefully pull the Library Cart to the upright position
Note: Two person task

5

6

7

8

9

Install the 2 Rear Tub Supports & 2 Back Stops
- Use M6 bolts & lock washers
- Locate bolt through “eye” in back stops
- Hand tighten only

Install the 2 Front Tub Supports
- Use M6 bolts & lock washers
- Hand tighten only

Tighten All Fasteners
- (Note: 22 in total)

Install 4 Rubber Stops Into the Lower Tub Supports
- Push down firmly while twisting
- Hint: Moistening the rubber helps

Install the Tubs

LW430-2008-A
February 20, 2008
20f2



